adieyou| /H .
$38zZauaw aual| IS

b\ b\

2d1eyou) 2115
[Ned Ysiyies I

9z'L0T'Lz [zzss [8z's8  [1v 9T'v9v |0ZT  |€8'E9TT [L6T |Vv6°S60°ET |L6SC |Z8'SYB'TT |TLST leloy
77'9L6 €L1 |e€€ T STeT |9 Sv'8T  |€ SLL6Y |8 vr'vvy |18 TZ-unf-0g o€
€9°/26 8T  [06'8 14 0T 4 0z S S8'/Sy |98 0£'0sy |8 1Z-unr-62 6T
90°€06 SLT  |00'€E 1 stve  |€ 99T |p sfrev | |es 171y |v8 1Z-unr-8z 87
G8'€96 EET  |0TT X 000 0 000 0 €eeEeE |12 Sv'/9¢  |€L TZ-unf-£z LT
84°00L vpT |0 0 o8y |6 G989 [€2 SY'/9v |66 S9'sZy  |TOT  |TT-unr-9z 9z
S0°0Z6 L6T |08'¥ z € z 0T'€ T 0£0IS |S6 S6'86€  |L6 TZ-unf-sg ST
S8'SS6 88T |0 0 0T'¢ T 0T8T (2 06’667 |26 SL'SLy  |€b TZ-unr-vg v
65'8€6 6.1 |08'E z ov'8T |T 0€0E |¥ 85'GLy |88 IS0Ty  |€8 TZ-unf-€7 €C
00'€Z6 0T |08'Y 12 0L'8% |6 o8vy |S oTzey |88 0S'Z6E |96 1Z-unf-zz [
SY'vS6 LLT |08'T z [4 T oroz |€ 0s'86v  |Z8 0€0ey |68 TZ-unf-1e T2
TT'L89 0Z1  [000 0 0 0 (0] 44 T 8€'SLE |09 vv'60€ |65 1Z-unf-0z 0z
G8'€08 T | 4 S I 6 3 S9'8€v  |LL 08'9ve  |/8 TZ-unr-61 61
€1'856 6T {000 0 98°'C T 0S 6 GE'T8Y |68 over  |s6 TZ-unr-g1 81
ST1'LS6 vZe  |08'2 T 0€'1E  |¥ G8'SS  |€T GE'L6Y  [LOT  |S8'69f (66 TZ-unf-/1 LT
€' 756 LST |0 0 8T 3 000 0 8S'L6Y  |8L S98EY  |/L TZ-unr-91 91
05'866 81 |S T 0L'8T |L 0z 11 0T'6Lv |00T |08'Sit |66 TZ-unf-ST ST
0L'2S6 08T |9 z 4% 6 GE 6 S8'0Ey |18 SE9EY (6L TZ-unf-p1 T
ST'EL9 LST |0 0 0 0 000 0 SL'9SE  |SL 0591 |8 TZ-unf-€1 €T
Ot'€S6 6L1 |€ L 6 z 080z |z ov'0IS |16 0Z'0Ty. |£8 TZ-unf-Z1 4
S8'070T viz |0 0 S861 | 44 14 0E'ZSS |60T |0Z'l2Zv (L6 TZ-unf-11 T
08'986 06T |OL'V 14 9z 81 124" 0z 08'96€ |€L 08'SEY  |SL TZ-unr-01 01
08'Z€6 Tt ¥ z 0€'L S Ov'60T |PT ST'S8y  |6L s8'9ze  |1L TZ-unr-60 6
00°LE£0T 09T |9 z 9 z 0769 |b S6'0vS |06 Sy'sty (29 1Z-unr-80 8
01’128 9ST  |000 0 00'6 € SS'L I ST6vy |44 Ov'LSE  |SL 1Z-unr-£0 2
09°'665 91T |000 0 0671 (v 000 0 0667 |19 oover  |1S 1Z-unr-9o 9
S6'vZ6 rZz |oZ't T 61 9 SY'SET  |PT SI'9T¥ |Z0T [00'TSE |86 1Z-unf-so S
0T'6€8 6l  [06C T Se€8C |S 06'Er |9 0T0Er |86 SL'EEE |8 1Z-unf-+0 v
St'v66 61 |9 4 06'8 € 0T'Z6 |€1 Sg'8vy  |¥6 0S'SeEr  |SOT  [TZ-unr-€o €
00'986 0Lz |oL'€ T (0]3 L GE'90T (8T SL'SLy  |€CT  |SE0LE  [tZT  [1Z-unr-zo Z
St'Z08 LST  |ov'T z 0 0 000 0 ozer |49 S8'0LE |88 1Z-unr-10 T
W3im| unoy| ydiem| wunod| ySiam| wnod| wSiam| wnod|  ySiam| unod|  ySiem| 3unon 21ea| ‘ON|S
|elo]| s8eg 21xo101A) S3UYM| xog yie an|g s3eg pay s3eg moj|aA
I IO\ [e3dsOH pappag -adA| uawysiiqels3  TZ0Z-90-0€ : 120Z-90-T0 :PoLiad
|[eidsoy a83)|0) |e2Ip3IAl SUYO[S

i\



